The
Cargo Bike

Company

B Made &
= =} in 2
Derbyshire, England

Bicycle Owners Manual

cargd ' '{N-O.uk




%

cargd ' '{N-O.uk



+ - ) #+ #4/

)01+ 2%3%4 + /. #2#42 ..
1 +$#

()

(@
) 5 5
% # (@)
" # (*
+

(Ceeeeeeeeeeeceee
+
#
$ e

+5 5
/ #
&#

)01+ 67 $H#+##)
1

)0 1+ 87 493/+ #+
2

% 3

2

%

6
1
7o) - (ceeeccec 8
5

4

——— oo aauaaandd

© o

01+ :7-3,$)+$ #
2

% #
+

1

6 40
+ 40

cargd ' '{N-O.uk



0
V1+ 7%3%4 + /. #2 & g
#42 .. 4 1 +$#
" #3H%
1 # 2 5 2
5
( 5
5
1 < (
2
& % +
# #
#
" #5H%
. 5
3
5($ 5
(4 <6 4= &
5(%
5 +) ,5 Figure 2- Toe-clip overlap
) (
. S+ %4 " H#$HY%
) 2
5
( (
;<48 =
/
/
# <6 =
> & #
? ; ? ;
% ?#
> . %
Figure 1- Minimum stand-
5 over height
A =1" (25 mm) for most
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Figure 4- Test for loose-
ness
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Figure 5- Brake pad alignment
A- Brake pad aligned with rim surface
B- Pad and rim should be parallel
C- Direction of rim rotation
D- 0.5-1.0 mm toe-in
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Figure 8- Angle for cross-
ing tracks
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Figure 10- Overuse of the
front-wheel brake
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Figure 11- Direct-connect
stem

A- Handlebar clamp bolts

B- Steerer clamp bolits
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Figure 12- Adjustable-rise
quill stem
A- Handlebar clamp
bolts
B- Stem expander bolt
C- Angle adjusting bolt

'

Figure 13- Minimum
insertion mark on quill
stem

A- This line must be
inside the bike frame
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A- Seat fixing bolts
B- Seatpost
C- Seatpost binder bolt
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